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A A mc

-THC

Zof et 37171 R = As Z o =220 THE(10°ColAM 9.4g, 29 °COlA{ 28.8g0|H 100% &Li&ET)
2 diigkete 220 M2 X +220] CHE(50% &k, 10°ColAM 4.7g, 29 °COl A 14.4g)
in grams per m® at 1000 mbar
Relative Humidity (MCH& k)

Temp | 100% | 95% 90% 85% 80% 75% 70% 65% 60% 55% 50%
10 9.4 8.9 8.5 8.0 7.5 7.1 6.6 6.1 5.6 52 4.7
11 10.0 9.5 9.0 8.5 8.0 7.5 7.0 6.5 6.0 55 5.0
12 10.7 101 9.6 9.1 8.5 8.0 7.5 6.9 6.4 5.9 5.3
13 11.4 10.8 10.2 9.7 9.1 8.5 8.0 7.4 6.8 6.3 57
14 12.1 11.5 10.9 10.3 9.7 9.1 8.5 7.9 7.3 6.7 6.0
15 12.9 12.2 11.6 10.9 10.3 9.6 9.0 8.4 7.7 7.1 6.4
16 13.7 13.0 12.3 11.6 10.9 10.2 9.6 8.9 8.2 7.5 6.8
17 14.5 13.8 13.1 12.3 11.6 10.9 10.2 94 8.7 8.0 7.3
18 15.4 14.6 13.9 13.1 12.3 11.6 10.8 10.0 9.2 8.5 7.7
19 16.3 15.5 14.7 13.9 13.1 12.3 114 10.7 9.8 9.0 8.2
20 17.3 16.4 15.6 14.7 13.9 13.0 12.1 11.3 10.4 9.5 8.7
21 18.4 17.5 16.5 15.6 14.7 13.8 12.9 11.9 11.0 10.1 9.2
22 19.5 18.5 17.5 16.5 15.6 14.6 13.6 12.7 11.7 10.7 9.7
23 20.6 19.6 18.6 17.5 16.5 15.5 14.4 13.4 12.4 11.3 10.3
24 21.8 20.7 19.6 18.6 17.5 16.4 15.3 14.2 13.1 12.0 10.9
25 23.1 21.9 20.8 19.6 18.5 17.3 16.2 15.0 13.9 12.7 11.5
26 24.4 23.2 22.0 20.8 19.5 18.3 17.1 15.9 14.7 13.4 12.2
27 25.8 24.5 23.2 21.9 20.7 19.4 18.1 16.8 15.5 14.2 12.9
28 27.3 25.9 24.6 23.2 21.8 20.5 19.1 17.7 16.4 15.0 13.6
29 28.8 27.4 25.9 24.5 23.1 21.6 20.2 18.7 17.3 15.9 14.4
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Humldlty deficit table (grams of water per m’ air)

RHY% AFCH=

Temperature °C

95 | 90 | 85 | 80

75

70

65

60

55

50

35

30

T

06 |13 119 26

32

3.9

45

e

58

6,5

7.1

7.7

8.4

07 [ 142127

34

41

438

55

6,2

6,9

75

8,2

89

96

07 |15 ]22] 28

36

44

51

5.8

6.5

7.3

8.7

94

10.2

08 | 15[ 23] 31

39

46

54

6.2

6.9

7.7

85

9.2

10

10.8

08 | 16 [ 24 ]33

4.1

49

57

6,5

73

8.2

9.8

10,6

114

09 | 17 [ 26] 35

43

5,2

6,1

6,9

7.8

8,7

95

104

11,2

12,1

09 | 18] 28| 37

46

5

6.4

7.4

83

9.2

10,1

12

12,9

1 2 129138

4,9

5,9

6.8

7.8

88

10,7

1,7

12,7

13,7

1 121131 41

52

6,2

72

82

93

11,3

124

13,4

14,4

11122 ]33] 44

b

6,5

76

8.7

938

13,1

14,2

15,3

12123 ] 35| 46

58

6.9

8,1

9.2

10,4

12,7

139

15

16,2

12 124 |37 | 48

6,1

7.3

85

98

134

14,6

159

171

1312639 52

6,5

7.7

9

10,3

11,6

14,2

15,5

16,8

18,1

14127 ]141] 55

6.8

8.2

98

109

12,3

164

17.7

19.1

1412943 | 58

72

8,6

10,1

11,5

15,8

17,3

18,7

20.2

15] 3 | 46| 61

76

9,1

10,6

12,2

13,7

16,7

18,2

19,8

213

16 132 | 48 | 64

L]

9.6

11,2

12,8

14,4

17,7

19,3

209

225

17134 )51 68

85

10.2

11,9

13,6

15,3

18,6

203

22

237

18 1 36| 54| 71

89

10,7

12,5

14,3

16,1

19,6

214

232

25

191385775

94

11,3

13,2

15,1

207

226

24,5

264

2 4 6 | 79

9.9

11,9

13,9

15,9

17,9

218

238

26,8

278

21142 |63 | 84

10,5

12,5

14,6

16,7

18,8

23

25,1

212

293

22 |44 | 66 | 88

13.2

15,4

17,6

198

242

264

286

308

23 | 46 | 69 ] 93

11,6

139

16,2

185

208

255

278

30,1

324

24 149|731 97

122

14.6

19,5

219

268

292

37

34.1

26 | 61| 77 | 102

128

15,4

179

205

23

282

30,7

33,3

358
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